Worksheet

1. Work out and simplify:

SURDS 2

a) V12 -275+3.5 - 4420 =

b) V2+1++/9 =
c) V28316 =

d) v+/2500 =
e) V50.4/26 .13 =

f) 18a —+/128a ++/450a —72a =

2 25 [2 18
7[2_3[25, [2 18
9) \E 4 "27 5[3

h) (3v2 - 448 +550 )+ (242 )-

) BY6YI
V52

2. Rationalise:

a)i:
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SOLUTION
1. Work out and simplify:

a) V12 =275 + 35 — 4420 =+/22 -3 -24/3.5% + 35 - 44/22 .5 =
=243-2-5J3+3/5-4.25=-8J3-55

b) 2+\/1+ \/2+\/F \/2+\/_—\/ﬁ J4=2

¢) V2816 =4/2° -4/8° {167 =4[22 . (2°) - (2*F =4/2%° =%2° =2%32
d)v+/2500 = 4/5* .22 =522 =5.2

e)v50.426 13 =252 21313 =+/22.52.13* =2.5-13 =130
£)\18a — 128a +/450a —\72a =~2-32a —27 a +/2 . 3?5%a —/2°3%a =
=3y2a -2°\2a +3-5J2a -2 -3vJ2a =(3-8+15-62a = 442a

s o ir B b
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h)(3v2 — 448 + 5450 )+ (2v/2) = 3v2 - 42@ 5.5v2):2v2 =
(3& 8v2 —2542)+ 272 = (-3042)+ 242 = -15

)
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2. Rationalise:

53 _35 305
V5 (J5f 5

2 2(\/g+\/§) _2(\/§+\/§)_
D55 W5 als ) 53

1 1-42 1-42
1442 (+v2J1-v2) 1-2 =V2-1
d)3+«/§_(3+«/§)\/§_3«/§+2
N NN
R V2B+42) 3242 32+2
3-V2 (B-v2)3+42) 9-2 = 7

c)




